
A-A ( 1:3 )

A
A

EC54 JIC 16OC00055COIL CONNECTION219

EC54SL00081CGASKET218

EC54 ø32WC00156AWATER CONNECTION217

EC54 SPECIAL COMBINED UNITSL00101BGASKET216

JIC 8OC00065AOIL CONNECTION215

ISO 7380 KTS 8.8 FZB M6x12TB00267ASCREW814

18,77x1,78 FPMSL00039AO-RING213

ø26,7x1,78 FPMSL00083AO-RING212

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 30 211

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 12 410

Hexagon Socket Head Cap ScrewISO 4762 - M6x110 29

Hexagon Socket Head Cap ScrewISO 4762 - M6 x 20 68

44,2x3 HNBRSL00084AO-RING27

 TB00191CBRACKET26

EC54-80 Combined unitHS00160AHOUSING15

 TB00190CMEDIUM PLATE14

ø46x4 FPMSL00067AO-RING13

D54-271 CombinedCA00036ACORE ASSEMBLY12

EC54-168 Combined unitHS00164AHOUSING11

DESCRIPTIONPART NUMBERTITLEREQITEM

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

APPROVED

  

TITLE

OIL COOLER
DESCRIPTION

ECD54-271 Combined Special

 

 

MATERIAL

SA00471A

1:2

 

2010-11-16Robert
DRAWN BY DATECONSTR

REVISION

SCALE

Th
is 

is 
the

 pr
op

er
ty 

of 
La

mi
no

va
 P

ro
du

cti
on

 A
B,

 S
we

de
n

an
d m

us
t n

ot 
be

 co
pie

d w
ith

ou
t o

ur
 pe

rm
iss

ion
, a

nd
 th

e
co

nte
nts

 th
er

eo
f m

us
t n

ot 
be

 im
pa

rte
d t

o a
 th

ird
 pa

rty
 or

 be
 us

ed
 fo

r a
ny

 un
au

tho
riz

ed
 pu

rp
os

e. 
Co

ntr
av

en
tio

n
 w

ill 
be

 pr
os

ec
ute

d.

DRAWING NO

CHECKED

1

2 3

45

6

7

8

9

1011

12

13

14 15

1617 18

19

OIL CONNECTION JIC8

OIL CONNECTION JIC16

345,6

275,6

271CORE LENGHT 

9
4
,
0

4

6
8
,
5

4

79


